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+ 6 5

9
+ 6 + 5 + +

9
15

9 + 6 9 + 5 9 + 9 +

8
8 + 6 8 + 5

15
8 + 8 +

8
14

8 + 6

13
8 + 5 8 +

13
8 +

Circle the
greater number.

Circle how
you know.

Fill in the numbers.

10 17 tens ones
is greater than .

>

64 51 tens ones
is greater than .

>

86 80 tens ones
is greater than .

>

fourteen

4 14 15

0 + 1 = ______

1 6 14

5 is more than

6 5 4

Write the missing sign.

9 5 = 4

4 + 4 = 6 + 4 = 4 + 6 = 8 + 2 =
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How many times
do you need to spin?

I needed to spin
time(s) to finish the page.

Spin fidget spinner.  Quick! I needed to spin time(s) to finish.

9
7+

7
3+

1
6+

2
2+

8
2+

2
6+

3
9+

2
1+

2
7+

8
9+

7
8+

9
6+

5
5+

4
3+

6
1+

9
2+

5
9+

4
9+

8
8+

9
7+

5
5+

9
3+

6
6+

3
2+

3
8+

8
5+

4
2+
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Spin again. I needed to spin time(s) to finish.

3
9+

6
1+

1
1+

8
6+

5
8+

7
3+

8
4+

4
6+

9
5+

8
9+

7
3+

6
4+

5
7+

9
3+

6
9+

4
4+

2
6+

5
3+

5
3+

8
5+

7
6+

8
3+

9
6+

2
8+

6
4+

1
5+

1
8+

7
9+

1
4+

6
9+

8
8+

3
8+

9
9+

7
5+

1
6+

6
3+

6
7+

3
6+

9
6+

3
7+

8
6+

1
9+

4
6+

5
1+

3
5+
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Hunter has nine books 
checked out from the 
library. This morning 
he returned five of 
the books. How many 
library books does 
Hunter have now?

9 - 5 =

He has
library books.

Gavin had six frogs. 
Four frogs hopped 
away. How many 
frogs does he have 
then?

6 - 4 =

He has
frogs.

Jessica picked some 
flowers for her mom. 
She picked three 
daisies and two tulips. 
How many total 
flowers did she pick 
for her mom?

3 + 2 =

She picked
flowers for her mom.

Free choice writing:

4 tens and 8 ones

48 4 8

6 - 2 = ______

4 7 8

7 + 0 = ______

7 12 7
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Gavin walked 8 blocks 
to the pool. Megan 
walked 3 blocks to the 
pool. How many more 
blocks did Gavin walk?

Anna has more than 5 
apples. She has fewer 
than 7 apples. How 
many apples does she 
have?

Emma has five red 
jellybeans. She has 
three green jellybeans. 
She has six yellow 
jellybeans. She has four 
black jellybeans. How 
many jellybeans does 
she have in all?

Add to these lines to draw a silly picture.
Turn your paper around if you need to.

Write a sentence to describe your picture:

Count by 4s.

20 28
seven

7 0 17

cuold

could

ciuld

cuol

cae

came

ceme

kaym

Circle the words.

lunchcasewereballcoverhillhaveate
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Each row, column, and box must have the numbers 
1 through 4.  The first box is done.

2 4

3 1 2

1

3

Each row, column, and box must have 4 different 
pictures.

2

4

1

3
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bigger
number

smaller

number

97 100 32 44 66 93 20 70

77 72 62 12 6 32 96 99

99 78 94 1 67 7 40 52

81 35 8 97 46 54 89 54

95 45 93 53 47 90 98 52

85 82 33 63 61 25 38 44
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7 6 7 > 6 36 20 36 > 20

13 45 13 < 45 40 48 40 48

29 28 29 28 31 32 31 32

24 33 24 33 49 9 49 9

54 14 54 14 40 0 40 0

5 31 5 31 48 47 48 47

31 25 31 25 16 32 16 32

https://www.mathworksheets.com


Name:
Week of August 2
MathWorksheets.com

Draw lines to put the numbers in order.
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Cross off the letter that does NOT belong.

G, I, K, M, O, Q, S, U, W, X, Y

Why does __________ not belong in the pattern?

Cross off the letter or number that does NOT belong.

9, 8, c, V, 9, 8, c, V, 9, 8, c, V, V, 9, 8, c

Why does __________ not belong in the pattern?
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Write how much to subtract.

14
- 5

9
- 5

4

Start with 14 .

Subtract 5 .  Repeat.

11 7 3

Start with .

Subtract .  Repeat.

14 8 2

Start with .

Subtract .  Repeat.

12 9 6

Start with .

Subtract .  Repeat.

17 13 9

Start with .

Subtract .  Repeat.

13 7 1

Start with .

Subtract .  Repeat.

17 12 7

Start with .

Subtract .  Repeat.

14 11 8

Start with .

Subtract .  Repeat.

13 9 5

Start with .

Subtract .  Repeat.

Trace.  Then complete the sentence.

word root ad can mean to or near admission, admit
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Write a word that has the same vowel sound.  Draw a picture of your word.

o snow i pig

April has seven bathing 
suits. Only two of them 
are red. How many are 
not red?

Write the missing letter to spell what .

w at wha wh t

4 5 6 7 8 9 10 11 12

7 + = 11

nine

9 18 17

9 tens and 4 ones

9 49 94

15 - 7 = ______

2 4 8

MEET X T F Q O E M E E R M E E T M B E G M C M T

HILL G I L H O H L V T I R L H C A N H I L L L Y

PRETTY P R E A T T Y P R E T T Y Y E P R T S Z W T

SHOW A S H O O H S H O W O K L H T P H N B W R W

word root uni can mean one unicycle, unilateral

2 + 8

3 + 9 = 6 + 4 =

4 + 8 = 2 + 7 =
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Count by 10s.

10 , , , , , , , ,

Count by 10 minutes.

3
4

567
8
9
10

11 12 1
2

9:00

3
4

567
8
9
10

11 12 1
2

9:10

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2

The clocks have been mixed up.  Write the time.

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2

3
4

567
8
9
10

11 12 1
2
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Complete the pattern.

4 8 12 16 20 24 28

5 10 15 20 25 30 35

1 2 3 4 5 6 7

2 4 6 8 10 12 14

3 6 9 12 15 18 21

4 6 8 10 12 14 16

4 is more than

5 3 4

five

19 9 5

7 tens and 2 ones

7 72 27

Count by 3s.

6 12

Count by 1.

4 7

5 is 1 more than .

1 + 7

9 + 3 =

8 + 6 =

6 + 2 =
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